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#

interface Eth-Trunk0

ip address 1.1.1.1 255.255.255.0

mode lacp-static

alias RAGG1
#

H=RE:

#

interface Route-Aggregation1000
link-aggregation mode dynamic
#



ELE5ohka &I Kimdisplay link-aggregation verboseEEEERRE4H10004A7, W NHOIAREFTIRE
Aggregate Interface: Route-Aggregation1000

Creation Mode: Manual

Aggregation Mode: Dynamic

Loadsharing Type: Shar

Management VLANs: None

System ID: 0x8000, 9023-b4cf-6d52

Local:

Port Status Priority Index Oper-Key Flag

GE1/0/13 U 32768 5 3 {ACD}

GE1/0/14 U 32768 6 3 {ACD}

Remote:

Actor Priority Index Oper-Key SystemID Flag

GE1/0/13 32768 1 49 0x8000, ccd7-3c3c-b3c4 {ACG}

GE1/0/14 32768 2 49 0x8000, ccd7-3c3c-b3c4 {ACG}

MEELACPIRZZERIAM, FREMinh7BIFFEdebugdlT:

#=debug:

<H3C>*Dec 3 16:19:52:545 2021 H3C LAGG/7/Packet: PACKET.GigabitEthernet1/0/13.receive.
size=110, subtype=1, version=1

Actor: type=1, len=20, sys-pri=0x8000, sys-mac=ccd7-3c3c-b3c4, key=0x31, pri=0x8000, port-index
=0x1, state=0x45

Partner: type=2, len=20, sys-pri=0x0, sys-mac=0000-0000-0000, key=0x0, pri=0x0, port-index=0x0, s
tate=0xc5

Collector: type=3, len=16, col-max-delay=0x0

Terminator: type=0, len=0

*Dec 3 16:19:52:546 2021 H3C LAGG/7/Packet: PACKET.GigabitEthernet1/0/13.send.

size=110, subtype=1, version=1

Actor: type=1, len=20, sys-pri=0x8000, sys-mac=9023-b4cf-6d52, key=0x3, pri=0x8000, port-index=0
x5, state=0xd

Partner: type=2, len=20, sys-pri=0x8000, sys-mac=ccd7-3c3c-b3c4, key=0x31, pri=0x8000, port-inde
x=0x1, state=0x45

Collector: type=3, len=16, col-max-delay=0x0

Terminator: type=0, len=0

Extern tlv: type=101, len=2, value=8

“FMidebug:

[HW]dis lacp err pack

2021-12-03 14:16:19.209 +08:00

2390 error-packet(s) have been received.

Eth-Trunk0, GigabitEthernet0/0/6, received at 2021/12/03 14:16:09 UTC+08:00.

Drop reason: The packet length 114 is wrong, the right length is 110.

0180 c2 00 00 02 90 23 b4 cf 6d 7b 88 09 01 01

01 14 80 00 90 23 b4 cf 6d 52 00 03 80 00 00 06

0d 00 00 00 02 14 80 00 cc d7 3c 3¢ b3 ¢4 00 31

80 00 00 01 45 00 00 00 03 10 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

Eth-Trunk0, GigabitEthernet0/0/7, received at 2021/12/03 14:16:09 UTC+08:00.

Drop reason: The packet length 114 is wrong, the right length is 110.

0180 c2 00 00 02 90 23 b4 cf 6d 7b 88 09 01 01

01 14 80 00 90 23 b4 cf 6d 52 00 03 80 00 00 05

0d 00 00 00 02 14 80 00 cc d7 3c 3c b3 c4 00 31

80 00 00 02 45 00 00 00 03 10 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

£eF5Midebug BREFLACPIRNAIREETIRUSERIR 114, IEFRIRSUSER A 110E2ET
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fERR
BEREAMEFBBLSlink-aggregation lacp traffic-redirect-notification enable, X&apSECESA
BESTIMSEM mIRENRERE.
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